
"

A1

A2

A3

A4

A5

A6

A7

A9

A10

A11

A12

A13

A14

A15

[�6
8x 35 mm

[5

[21

3,5 x 15 mm

3 & 4 mm

[��[�

[12

5,0 x 50 mm

[8

[2

1!

x4

M4 x 25 mm

x4

M6 x 15 mm

x6

M6 x 40 mm

A8

A16

A17

x1
L

R
A18

x4

E

x4

x4

x4

6,3 x 11 mm

[6

[6

x4

A19 x4

M6 x 25 mm

A20
x6

3x15 mm

A21 x2

15x30 mm
A22 [2

3,5 x 12 mm



2 

-1

A4

A5 x4

M6 x 15 mm

A13
4 mm

A4

A5

A4

A4

A4

x4A8

A8

A8

A8

A8

M6 x 40 mm

x4



3 

-2

A1
8x 35 mm

A1

A1

A6

x6
A6

x12

A12 x4

A12

A12

A12

A12

x4

A1 x4

A1 x4

A22  

A21 

A21 x2

15x30 mm

A22 [2

3,5 x 12 mm



4 

-3

A1 [12
8x 35 mm

A7 x1
L

R

x4

6,3 x 11 mm
A16 A7

A7 R

L

A16
A16A1



5 

-4

A10 x 4

5,0 x 50 mm

A10
A13

3  mm

A13



6 

-5

A10 x 2

5,0 x 50 mm

A10

A10

A13
3  mm

1.

2.

1.

2.



7 

-6

A19 x4

M6 x 25 mm

A13
 4 mm

A19

A19

2.
2.

1.



8 

-7

A10 x 5

5,0 x 50 mm

A13
3  mm

A10 x 5



A11 x5

3,5 x 15 mm

x5A18

A20
x6

3x15 mm

9 

-8

A11

A18

A20
x6

1.

2.

A20 
x6



10 

-9

E

x2 

x2



11 

-10

A10 [1

5,0 x 50 mm

A10

A13
3  mm



-11

12

A1 [12
8x 35 mm

A1

A2 [6

A14 [4

A2

A14
A2

A14

[4

[3

[3

[4

A1 [4

A1 [4

A14



-12

13 

A3 [6

A9 x4

A3

A9

A3

A9

A3

A3

[4

[4

A9



14 

-13

1.

1.

3.
2.

2. 3.



15

-14

A6 x6

A14 [4

A6

A14

A14

A14
A14

A11 [12

3,5 x 15 mm

A11 [12



16 

-15

x2

M4 x 25 mm

A17



17 

-16

x2

M4 x 25 mm

A17



18

-17

A11

A15

[2

3,5 x 15 mm

[2

A11

[4

18
70

 m
m

18
70

 m
m

Warning : This Piece of Furniture Must 
Be Attached To The Wall Using The Wall 
Brackets Provided 

Attaching brackets to wall - please remember 
you must source and supply the fixings for 
attaching to your particular type of wall 
including the wall screws  and wall plugs.

A15




